
3
G 2135 (Pages : 2) Reg. N

Name.......'........

B.TECH. DEGREE EXAMINATION, APRIL 2OIO

Time : Three Hours Maximum : l-00 Marks

Ansuer all questions.

Part A

1. Explain how OS uses multiprogramming to irnplement time-sharing'

2. Write notes on real time operating system.

3. What are the various oBerations performed on a process ?

4. What is a process table ? Explain the various fields present in it'

5.Whatisarousablegraphmodel?Howisitd.ifferentfromtheconsumablegraphmodel?

6 . Explain the various nethods of recovering from dead lock-

7. what is the cause of thrashing ? How does the system detect thrashing ? once it detects thrashing,

what can the system do to eliminate this problem'

8. Differentiate internal and external fragmentation'

9. Explain the different ways of representing directories'

10. With an example, explain the working of look algorithm'

Part B

11. (a) Draw and explain the architecture of UND( system'

Or

(b) With a neat sketch, discuss the structure of windows 2000 OS'

12.(a)Describethedifferenceamongshort-tefm,medium-termandlong-termschedulingwith
suitable examPles'

Or

(b)Explainhowprocesscreation,deletionandscheduiilgisdoneunderallNDtenvironment'
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(ii) What are the two
environment ?
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What are the major drawbacks of busy wait implementation of semaphore primitives

Explain a technique to alleviate these &awbacks.
(8 marks

ways to achieve interprocess communication in multiprocessor

(4 marks

Or

Consider the bourded-buffer producer/consumer problem. Give the complete statement ofthe
problem. Derive a s;'nchronization protocol using semaphofes.

Write short notes - on :

(i) Compaction ;

(ii) Protection and sharing in segmentation.

Or

With a neat fiaglam explain paging.

When do page fault occur ? Describe the
occurs ?

Explain the different types of fiIe allocation methods giving their inerits and demerits.

Or

Describe the physical characteristics of various storage devices.

15 x L2 = 60 marksl

(b) (i)

(ii)

(8 marks)

actions tal<en by the OS when a page fault
(4 marks)


